V/QVQ A\

2576

) i “J) Chassis Assembly

8224

o577
3i08es & o7
ai 1 5080

2577
ﬁ 3x10 BCS

&

25770
S
&)

25787
3x12 BCS

25758
3x6 BCS

8234 opt.
See Parts List for a complete e Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. 8234R the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors. REV 181017-R06

8234 opt.


https://www.rc-hp.de/Traxxas-3x8mm-Sechskants-Schraube-2576
https://www.rc-hp.de/Traxxas-3x8mm-Sechskants-Schraube-2576
https://www.rc-hp.de/Traxxas-Empfaengerbox-mit-Dichtungen-Schrauben-8224
https://www.rc-hp.de/Traxxas-Empfaengerbox-Dichtungskit-8225
https://www.rc-hp.de/Traxxas-25x8mm-Schraube-3965
https://www.rc-hp.de/Traxxas-Empfaengerbox-Dichtungskit-8225
https://www.rc-hp.de/Traxxas-Empfaenger-Micro-3Kanal-6519
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/navi.php?qs=trx2577
https://www.rc-hp.de/Traxxas-Rock-sliders-l-r-8219
https://www.rc-hp.de/Traxxas-Rock-sliders-l-r-8219
https://www.rc-hp.de/Traxxas-Akkus-Halter-8327
https://www.rc-hp.de/Traxxas-Akkus-Halter-8327
https://www.rc-hp.de/Traxxas-Akkus-Halter-8327
https://www.rc-hp.de/Traxxas-Akkus-Halter-8327
https://www.rc-hp.de/Traxxas-3x10mm-Senk-Sechskant-Schraube-2551
https://www.rc-hp.de/Traxxas-Akku-Box-8226
https://www.rc-hp.de/Traxxas-Akkus-Halter-8327
https://www.rc-hp.de/Traxxas-Halbwellen-Center-nur-Plastikteile-8250
https://www.rc-hp.de/Traxxas-Halbwellen-Center-nur-Plastikteile-8250
https://www.rc-hp.de/Traxxas-Karo-Steher-v-h-8115
https://www.rc-hp.de/Traxxas-Karo-Steher-v-h-8115
https://www.rc-hp.de/Traxxas-Titan-550-Motor-21T-3975R
https://www.rc-hp.de/Traxxas-3x8mm-Sechskants-Schraube-2576
https://www.rc-hp.de/Traxxas-3x8mm-Sechskants-Schraube-2576
https://www.rc-hp.de/Traxxas-Karo-Halterung-v-h-komplettes-Set-8215
https://www.rc-hp.de/Traxxas-3x20mm-Sechskant-Schraube-2580
https://www.rc-hp.de/Traxxas-3x20mm-Sechskant-Schraube-2580
https://www.rc-hp.de/Traxxas-3x20mm-Sechskant-Schraube-2580
https://www.rc-hp.de/Traxxas-3x20mm-Sechskant-Schraube-2580
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-Floor-pans-l-r-8218
https://www.rc-hp.de/Traxxas-Floor-pans-l-r-8218
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859
https://www.rc-hp.de/Traxxas-Motorbefestigungsschrauben-4859
https://www.rc-hp.de/Traxxas-Karo-Halterung-v-h-komplettes-Set-8215
https://www.rc-hp.de/Traxxas-Karo-Halterung-v-h-komplettes-Set-8215
https://www.rc-hp.de/Traxxas-3x6mm-Sechskants-Schraube-2575
https://www.rc-hp.de/Traxxas-3x6mm-Sechskants-Schraube-2575
https://www.rc-hp.de/Traxxas-3x6mm-Sechskants-Schraube-2575
https://www.rc-hp.de/Traxxas-Servo-digital-high-torque-Metallgetriebe-Kugellager-wat-2075X
https://www.rc-hp.de/Traxxas-Daempferbruecke-v-h-l-r-8216
https://www.rc-hp.de/Traxxas-Daempferbruecke-v-h-l-r-8216
https://www.rc-hp.de/Traxxas-Daempferbruecke-v-h-l-r-8216
https://www.rc-hp.de/Traxxas-Daempferbruecke-v-h-l-r-8216
https://www.rc-hp.de/Traxxas-Schrauben-3x23mm-Rundkopf-2591
https://www.rc-hp.de/Traxxas-Chassis-Schienen-448mm-Stahl-l-r-8220
https://www.rc-hp.de/Traxxas-Chassis-Schienen-448mm-Stahl-l-r-8220
https://www.rc-hp.de/Traxxas-Servo-mount-2Gang-servo-mount-T-Lock-wire-clips-8240
https://www.rc-hp.de/Traxxas-Servo-mount-2Gang-servo-mount-T-Lock-wire-clips-8240
https://www.rc-hp.de/Traxxas-Servo-mount-2Gang-servo-mount-T-Lock-wire-clips-8240
https://www.rc-hp.de/Traxxas-Servo-mount-2Gang-servo-mount-T-Lock-wire-clips-8240
https://www.rc-hp.de/Traxxas-Bumper-hinten-176mm-Breite-8125
https://www.rc-hp.de/Traxxas-Bumper-Halter-v-h-Bumper-Halter-hinten-Offset-8067X
https://www.rc-hp.de/Traxxas-Bumper-Halter-v-h-Bumper-Halter-hinten-Offset-8067X
https://www.rc-hp.de/Traxxas-Bumper-Halter-v-h-screw-pins-4-8237
https://www.rc-hp.de/Traxxas-Bumper-Halter-v-h-screw-pins-4-8237
https://www.rc-hp.de/Traxxas-Servo-mount-Lenkung-Chassis-Crossmember-8239
https://www.rc-hp.de/Traxxas-Servo-mount-Lenkung-Chassis-Crossmember-8239
https://www.rc-hp.de/Traxxas-Skidplate-unten-Gear-Cover-8238
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Bumper-vorn-178mm-Breite-Winch-8124
https://www.rc-hp.de/Traxxas-XL-5HV-3s-Fahrtenregler-waterproof-low-voltage-detection-3025
https://www.rc-hp.de/navi.php?qs=trx8247
https://www.rc-hp.de/navi.php?qs=trx8234
https://www.rc-hp.de/navi.php?qs=trx8234



